
 
 

 Page 1 

  

 

 

 

Assembly Instructions 

Last Updated: 12/ 12/2016 

  



WhittleCNC Assembly Instructions 
  

 Page 2 

Table of Contents 

Step 1: Z-Axis          4 

Step 2: X-Shuttle          6 

Step 3: Y-Shuttle Right Side        10 

Step 4: Y-Shuttle Left Side        12 

Step 5: Base Left Rear         14 

Step 6: Other 3 Bases         16 

Step 7: Bases to Frame         17 

Step 8: Z-Shuttle to X-Shuttle        19 

Step 9: X-Shuttle to Y-Shuttle        21 

Step 10: Gantry to Frame        23 

Step 11: Belts          25 

Step 12: Power Supply & Back Board       31 

Step 13: Feet          33 

Step 14: End Stops          35 

Step 15: Wiring          37 

Step 16: Attaching Flex Shaft to Rotary Tool     42 

Changing Bits         45 

Bit Types & Uses         47 

Recommended Settings/Speeds     48 



WhittleCNC Assembly Instructions 
  

 Page 3 

 

The shafts have one Cut side (A) and one 

Sanded side (B).  

Only push the sanded side (B) through 

bearings. 

A                   B 

  



WhittleCNC Assembly Instructions 
  

 Page 4 

 

Step 1 

 

 

 

 

Insert the bearings into 

the bottom of the Z-

Shuttle.  

  

Parts List 

Bag #1 
Flex Shaft 
Z-Shuttle 



WhittleCNC Assembly Instructions 
  

 Page 5 

 

  

Insert 2x 10mm Bolts 

into each side of the Z-

Shuttle and secure 

with Hex Nuts. 

 

 

Insert 3x 20mm Bolts 

into the front of the Z-

Shuttle and secure 

with 3x Hex Nuts. 

 

  



WhittleCNC Assembly Instructions 
  

 Page 6 

 

Step 2 

 

 

Attach the Belt Pulley to the 

Stepper Motor. Make sure the 

set screw is against the flat side 

of the shaft.  

Parts List 

Bag #2 
1x Stepper Motor 

X-Shuttle 



WhittleCNC Assembly Instructions 
  

 Page 7 

 

 

 Insert Bearings 

into the X-Shuttle. 

 

 

 

Secure bearings 

with 4x 10mm 

bolts and 4x hex 

nuts. Do not fully 

tighten at this point. 

 

 

Secure the Stepper Motor 

to the X-Shuttle using 4x 

10mm hex bolts. 

Orient the Motor so the wires 

are facing up. 

  



WhittleCNC Assembly Instructions 
  

 Page 8 

 

Insert the Belt 

so it goes 

around the Belt 

Pulley. 

 

 

 

Place the bearing against the belt and push into place. 

  



WhittleCNC Assembly Instructions 
  

 Page 9 

While holding the bearing in place 

insert the 1/4"x1" bolt and tighten.   

  

 

 

   

  



WhittleCNC Assembly Instructions 
  

 Page 10 

 

Step 3  

 

 

Insert the bearing and 

secure using 4x 10mm 

bolts and 4x hex nuts. 

 

 

Parts List 

Bag #3 
Y-Shuttle Right 



WhittleCNC Assembly Instructions 
  

 Page 11 

Take the 1/4"x1" bolt and 

place the larger washer, 

bearing, and smaller 

washer on it. 

 

 

 

 

Install the unit from the 

previous step on the rear 

of the Y-Shuttle Right. Do 

not over tighten. 

Install the remaining 

screw on the bottom of 

the Shuttle (Updated to a 

Black Screw).  

 

  



WhittleCNC Assembly Instructions 
  

 Page 12 

 

Step 4 

 

 

 

Insert the bearing and 

secure using 4x 10mm 

bolts and 4x hex nut. 

  

Parts List 

Bag #4 
1x Stepper Motor 

Y-Shuttle Left 



WhittleCNC Assembly Instructions 
  

 Page 13 

 

Install the Stepper Motor using 4x 10mm bolts. Orient 

the motor so the wires are pointing up (away from the 

bearing). 

 

 

  

Attach The Pulley to the Motor Shaft Ensuring the bolt is 

against the flat part of the shaft (not pictured) 



WhittleCNC Assembly Instructions 
  

 Page 14 

Step 5 

 

 

 

 

 

 

 

Attach the Pulley to the 

Stepper Motor. 

 

Parts List 

Bag #5 
1x Stepper Motor 

Left Rear Base 



WhittleCNC Assembly Instructions 
  

 Page 15 

 

 

Attach to base to the 

Motor Using 2x 

10mmM3 bolts. 

  


